









































$$f(x_{0} + a) = f(x_{0}) + a \frac{df}{dx}\Big|_{x_{0}=a} + \frac{a^{2}}{2} \frac{d^{2}f}{dx^{2}}\Big|_{x_{0}=a} + \dots$$

$$f(x_{0} - a) = f(x_{0}) - a \frac{df}{dx}\Big|_{x_{0}=a} + \frac{a^{2}}{2} \frac{d^{2}f}{dx^{2}}\Big|_{x_{0}=a} - \dots$$

$$f(x_{0} + a) + f(x_{0} - a) - 2f(x_{0}) = a^{2} \frac{d^{2}f}{dx^{2}}\Big|_{x_{0}=a}$$

$$\frac{d^{2}f}{dx^{2}}\Big|_{i} = \frac{f_{i-1} - 2f_{i} + f_{i+1}}{a^{2}} \longrightarrow \begin{array}{c} 3 \text{ point formula, could be extended to N points depending on the number of derivatives we carry in our expansion}$$



















